Ch2 - Ex1 - Age and Memory

DATA LI ST FREE / age nem
BEG N DATA

13 132 129 131 128 134 132 127 134 130 126 131

226 230 228 231 231 224 227 229 232 226 230 225

END DATA

. . T2-
*On average, younger adults remenber 32 words on this task. Do results 5\-}“ . )l 4",3
suggest that this sanple cones froma popul ation that renenbers nore or fewer words.

TTEST TESTVALUE = 32 / VARl = nmem
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COWPUTE nenB2 = nem 32. ?
GLM nenB2 / PRI NT = DESCR
\_________________________...——.._'4-'

Dependent Variable: mem32 S ‘ ,07'5 tsmm‘dd—w\
Mean Std. Deviation N © oL =.,.65
-2.45833 3.064228 24 Hb._/l obq _},:ZD‘QT Z:_._ &’? :__2_"'3
Dependent Variable: mem32 “‘90 q?"* 4G .onZ
S 7 _a 239
ource Type lll Sum of Squares df Mean Square F |g
Corrected Model .000 0 . . [\ 4 ({ "}AC.’\ =z —
Intercept l 1 145.042 15.45 .001 "Z'—'[ A nzhgﬁ? = N5 ‘52 ﬁ
Error 215.958 (L~ ( 23 9.389 = f,b
Total 361.000 24 (ﬁMAQt-) ol
Corrected Total 215.958 23
X N s =
5 S VN7

*Sanpl i ng Distribution 100,000 sanpl es,
SET SEED = 14222318.
I NPUT PROGRAM
LOCOP sanple = 1 TO 100000.
DO REPEAT y = y1 TO y24.
COMPUTE #a = RV. NORMO, 1).
COVPUTE y = 32+5*(-.707107*#a +

= 32, sigm = 5,

. 707107RV. NORM 0, 1)) .

5 -(23 Page"lz— =



END REPEAT.

END CASE
END LOCP.

END FI LE _

END | NPUT PROGRAM ,t Y—Mo

COVPUTE nean = MEAN(y1 TO y24). 5}/\{-‘;\*

COVWPUTE variance = SD(yl TO y24)**2.
COWPUTE t = (mean-32)/ SQRT(vari ancel 24) =
=
COWPUTE pobs = ABS(t) GE 3.930297. _~ — —5‘?? 'E’_?“ - J’*'%Qg
COVPUTE pal pha = ABS(t) GE 2. 0609. -
MEANS pobs pal pha.

P = . =, 0051
pobs palpha ['06-7!050
Mean .00073 .04863
Dw(e ‘L"\—‘SK‘ Lo
e = oo\ = ¢ ©

FREQt /FORM = NOTABLE / H STOGRAM
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*| ndependent groups.
TTEST VAR = nem/CGROUP = age.

S5y (-3 228
C 2 S5

5 AD
age N Mean Std. Deviation ) ? Dg'\ .QC\L\OFL
mem 1000 1 ovrS 12 30.83333 3.010084/ =134
2000 D)) = 28.25000 % ~ 2. 63283555 (11 -—:)2' 5?7%2

t-test for Equalit} of Means

t df Sig. (2-tailed)

Me&n Difference Std. Error Difference

mem 2.238 22

U9 583333 (H_“ )—_\

1. 15444\7}

GLM nem BY age /PRI NT = DESCR

Dependent Variable: mem

HO:)'A:::})“’Z—
He: }"‘1 >)'A’L-
Qj = 7—5 -

_ %'obg

\ - —
age MeaJ 1) Std. Deviation N 5 e 2
1.000’1:{' , 30.83333 3.010084 12 L2\ PR
2,000 4, 28.25000 2.632835 12 A\ AT —}Wo DX —
Total < 2054167 3.064228 24 i -
16

Dependent Variable: mem
Source Type Il Sum of Squares 5 Mean Square F Sig.
age 40.042. 1 40.042 5.008 036 = f" €
Error 175.917 22 7.996
Corrected Total 215.958 23 ’_)

SSmtaL S 5

*Sinulation HO true: mul = nu2.
SET SEED = 14222318.
I NPUT PROGRAM
LOOP sanple = 1 TO 100000.
DO REPEAT y = y1 TO y12.
COMPUTE y = 32+5*RV. NORM 0, 1) .
END REPEAT.
DO REPEAT o = ol TO o12.
COWPUTE 0 = 32+5*RV. NORM 0, 1) .
END REPEAT.
END CASE.
END LOOP.
END FI LE.
END | NPUT PROGRAM
COWUTE di ff = MEAN(yl TO y12) -

€§;,<1/c,\'598w~

MEAN(01 TO 012).

e

COMPUTE var = (SD(yl TO y12)**2 + SD(0l TO 012)**2)/ 2.

COMPUTE t = di ff/SQRT(var*(1/12 + 1/12)).

FREQ t /FORMAT = NOTABLE /HI ST.
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6,000

Mean = -.006
5,000 Std. Dev. = 1.052
N = 100,000
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COWPUTE pobsnon = ABS(t) GE 2.238.
COWPUTE pobsdir =t GE 2.238.
COWPUTE pal phanon = ABS(t) GE 2.074. H—a' o
COVPUTE pal phadir = t GE 1.717. Ha:
MEANS pobsnon pobsdir pal phanon pal phadir.

l?‘-!-f\'z..
>

\

pobsnon pobsdir palphanon palphadir
Mean .03564 .01735 .05030 .04984

*SPSS conmmands to generate sanple data.
SET SEED = 14222318.
I NPUT PROGRAM
LOOP #s = 1 TO 24.
END CASE.
END LOOP.
END FI LE.
END | NPUT PROGRAM
COWUTE #a = RV. NORM O, 1).
COWPUTE yrs = RND(55+10*#a).
COWMPUTE mem = RND(30+5*(-.7071*#a + .7071*RV. NORM 0, 1))).
SORT CASES BY yrs.
RANK yrs /NTILE(2) |INTO age.
FORMAT nem yrs (F2.0) age (F1.0).
DELETE VARl yrs.
LI ST age nem
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